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◼ The continuous wavelet transform of a function f (t) is given by

w(s, a) = 1

s
∫-∞
∞ f (t)ψ

t-a
s
 ⅆ t. 

◼ The continuous wavelet transform of a uniformly sampled sequence
 {x1, x2,…} = x(t0), x(Δ + t0),…}  is given by

w(s, a) = 1

s
∑k=1
n xkψ

Δ (k-a)
s



�����������������

��������������������������[{��� ��� …}] 

gives the continuous wavelet transform of a list of values ��.

��������������������������[����� ����]

gives the continuous wavelet transform using the wavelet ����.

��������������������������[����� ����� {����� ����}]

gives the continuous wavelet transform using ���� octaves with ���� voices per octave.

��������������������������[������ …]

gives the continuous wavelet transform of sampled sound.

���������������

◼ The scaling parameter s is given by equal-tempered scale soct,voc = α 2oct-1 2voc/nvoc where oct is 
the octave number, voc the voice number, and α the smallest wavelet scale.

◼ The default value for ���� is given by log2
n
2
, where n is the length of the input.

◼ The default value for ���� is 4.

◼ The scaling parameter s is given by equal-tempered scale soct,voc = α 2oct-1 2voc/nvoc where oct is 
the octave number, voc the voice number, and α the smallest wavelet scale.

◼ For each scale soct,voc, the �������������������������� computes the wavelet 
coefficients {w(1, soct,voc), w(2, soct,voc),…, w(n, soct,voc)}.

������������������

◼ �������������[…]

The wavelet function (ψ) is given by 1 π4 cos xπ 2 / log(2) exp- x
2

2
. 



��������� ����[����������[�������������[]� �]� {�� -�� �}� ��������� → ���� ������� → ����]
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��������� ��������������[�������������[]� (� - �) / �]  ����[�]�

{�� -�� �}� ��������� → ���� ������� → ����
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��������� ����[����������[�������������[]� � (� + �)] ����[�]�

{�� -�� �}� ��������� → ���� ������� → ����]
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◼ ������������[…]

The wavelet function (ψ) is given by 1

π
4

exp(ⅈw x) exp- x
2

2
. 

��������� ψ = ����������[������������[�]� �]�
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��������� ����[{��[ψ]� ��[ψ]}� {�� -�� �}�

��������� → ���� ��������� → {���� ����}� ������� → ����]
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◼ ����������������[…]

The wavelet function (ψ) is given by (-1)n+1

Γn+
1

2


∂n

∂xn
exp- x

2

2
.

��������� ����[����������[����������������[�]� �]� {�� -�� �}� ������� → ����]
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��������� ����[����������[����������������[��]� �]� {�� -�� �}� ������� → ����]
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◼ �����������������[…]    (default)

The wavelet function (ψ) is given by -2

π
4 3σ


x2

σ2
- 1 exp- x2

2σ2
.
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��������� ����[����������[�����������������[�]� �]�

{�� -�� �}� ��������� → ���� ������� → ����]

���������
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◼ �����������[…]

The wavelet function (ψ) is given by (2 ⅈ)n n!

π (2 n)!
(1 - ⅈ x)-n-1.

��������� ψ = ����������[�����������[�]� �]�

��������� ����[{��[ψ]� ��[ψ]}� {�� -�� �}�

��������� → ���� ��������� → {���� ����}� ������� → ����]
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�����������

���������������������������������[���] 

gives the inverse continuous wavelet transform of a ���������������������  object ���. 

���������������������������������[���� ����]

gives the inverse transform using the wavelet ����.

���������������������������������[���� ����� ������]

gives the inverse transform from the wavelet coefficients specified by ������.

���������
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����������������[��] 

plots wavelet vector coefficients in a ������������������� or ���������������������  object ��.

����������������[��� ����]

plots wavelet coefficients corresponding to the wavelet index specification ����.

����������������[��� ����� ����]

applies ���� to coefficients before plotting. 

��������

���������

��������� ���� = ��������������������������[{��� ��� �� ��� ��� ��� ��� ��}]

��������� ��������������������� �������� � ������� �
���� ������� �



��������� ������[����]

��������� {{�� �} → {�������� �������� -��������

-��������� �������� ��������� �������� -�������}� {�� �} →

{�������� �������� -�������� -�������� �������� ��������� �������� -�������}�

{�� �} → {�������� �������� -������� -��������

�������� �������� �������� -�������}� {�� �} →

{�������� �������� -������� -�������� �������� �������� �������� -�������}�

{�� �} → {�������� �������� -������� -��������

�������� �������� �������� -�������}� {�� �} →

{������� �������� -�������� -�������� �������� �������� -��������� -������}�

{�� �} → {�������� �������� -������� -��������

������� �������� -�������� -������}� {�� �} →

{�������� ������� -�������� -�������� �������� �������� -�������� -�������}}

��������� ������������[����[���� ��������]]

���������
2 4 6 8

-30

-20

-10

10

20
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��������� ����������������[����� ��������� → {������� �������}]

���������

2 4 6 8
time

2

1

scale

��������� ���������������������������������[����]

��������� {���� ���� ��� ���� ���� ���� ���� ���}

���������

��������� ���� = ��������������������������[{�� �� �� �� �}� �����������������[�]]

��������� ��������������������� �������� � ������� �
���� ������� �



��������� ������[����]

��������� {{�� �} → {���������� -��������� ��������� -��������� ���������}�

{�� �} → {���������� -��������� ��������� -��������� ���������}�

{�� �} → {-������������� -��������� ��������� -��������� -������������}�

{�� �} → {-���������� -��������� ��������� -��������� -���������}}

��������� ����������������[����� ��������� → {������� �������}]

���������

1 2 3 4 5
time

1

scale

��������� ���������������������������������[����]

��������� -������� × ��-��� -������� × ��-��� ��� -������� × ��-��� -������� × ��-��
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���������

��������� ���� = ��������������������������[���[�����[��] / �]]

��������� ��������������������� �������� � ������� �
���� ������� ��



��������� ����[����������]

��������� {{�� �}� {�� �}� {�� �}� {�� �}� {�� �}� {�� �}� {�� �}� {�� �}�

{�� �}� {�� �}� {�� �}� {�� �}� {�� �}� {�� �}� {�� �}� {�� �}}

��������� ����������������[����� ����� → ����]

���������
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��������� ����� = ��������������� �� -�� ��
���

����
�

��������� ������������[�����]

���������
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��������� ����������������[����� ��������� → {������� �������}]

���������
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��������� ����������[����[���� ��������]� ������������� → ��������������

��������� → {������� �������� � �}� ���� → ����� ��������� → ���]

�������������������������

�����������������

�����������

������ = ����������� {�� �� ��� ����}�

{����� ����} = �����[��������������������������[

������� ����������������[�]� {���������� ���}]� {���� {�� ��}}]�
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{����������������[����� ��������� → �� ������/�������]�

����������������[����� ��������� → ��� ������/�������]}


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

�����������������

�����������

������ = ��������[�� � ���[���[�] �]][�����[�� �� �����]]�

{����� ����} = �����[��������������������������[

������� ���������� {���� ���������}]� {���� {�� �}}]�

{����������������[����� ��������� → �� ��������]�

����������������[����� ��������� → �� ��������]}


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

������������

�������������

���������

����� = ��������[�� π �]� �� �� ��
�

����
�
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������������[�����]
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���� = ��������������������������[������ ������������[�]]�

����������������[����� ������������� → �������������]
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�
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�
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����� = ��������������������������[������� ������������[�]]�

����������������[������ ������������� → �������������]
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����������

������ = �����{�� = �}� ���������� += ��� �� �� �� ��
�

����
�

������������[������]
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����������������[������ ������������� → �������������]
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������ = �������������������[�]� �� -�� ��
�

����
�

������������[������]
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����� = ��������������������������[�������

����������������[�]� {���������� ��}� ������� → �������]

��������������������� �������� �� ������� ��
���� ������� ����


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����������������[�����]
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������ = ��������[� π �] + � ���-���
�

�
- �

�
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�

���
�
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����������

������ = �����������������[� π �� �]� � ≤ � <
�

�
� ���[� π �� �]�

�

�
≤ � <

�

�
�

���[� π �� �]�
�

�
≤ � <

�

�
� ���[� π ��� �]�

�

�
≤ � ≤ �� �� �� ��

�

����
�

������������[������� ����������� → ���]
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����� = ��������������������������[������� ����������������[�]� {���������� ��}]�

����������������[������ ������������� → �����������]
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����������[�����[���� ��������]� ������������� → ��������������

��������� → {������� �������� � �}� ���� → ����� ��������� → ���]

����������

������ = ��������[�� π �] ���-��� π (� - ���)� +

���[��� π �] ���-�� π (� - ���)�� �� �� ��
�

����
�

������������[������� ��������� → ���]
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����� =

��������������������������[������� �����������������[�]� ���������� → ����]�
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����������������[������ ������������� → �����������]
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����������[���@�����[���� ��������]�

������������� → ��������������

��������� → {������� �������}�

���� → ����� ��������� → ���]

������������������������

����������

������ = ���������� + ������ {�� �� � π� ����}�
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������������[������]
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�������� = ��������������������������[������� �����������������[�]]�

����������������[��������]
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��������������������� �������� � ������� �
���� ������� ���


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����������

������ = ��������������� �� -�� ��
���

����
�

������������[������]

200 400 600 800 1000
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-0.5
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1.0

�������� = ��������������������������[������� �����������������[]]

��������������������� �������� � ������� �
���� ������� ����



����������[���@��������[���� ��������]�

��������� → {������� �������� � �}�

���� → �����

��������� → ���]

����������� = ��������������������������[������� ����������������[]]�
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����������[���@�����������[���� ��������]�

������������� → ��������������

��������� → {������� �������� � �}�

���� → ����� ��������� → ���]

���������� = ��������������������������[������� ������������[�]]�

����������[���@����������[���� ��������]�

������������� → ��������������

��������� → {������� �������� � �}�

���� → ����� ��������� → ���]

��������� = ��������������������������[������� �����������[]]�
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����������[���@���������[���� ��������]�

������������� → ��������������

��������� → {������� �������}�

���� → ����� ��������� → ���]

�����������������������������������

����������

�[�_� ϵ_] �= � (� - �) ���
� π (� + ϵ)

� + ϵ


������ = ������[�� ����]� �� �� ��
�

����
�

������������[������]

200 400 600 800 1000
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0.4

����� = ��������������������������[������� ������������[�]� {���������� ��}]
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����������������[������ ������������� → �����������������]
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������������[������� ��������� → ���]
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������������[{������〚� �� ���〛� �������〚� �� ���〛}�

��������� → ���� ��������� → {����� {���� �����}}]
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����� = ��������������������������[

������� ������������[�]� {�� ��}� ������������ → ��]
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